RE O#B =

(1) REDHIER CHAL: M. % (2 NI et B HE ) )

TR 165EE TER17EE TR18EE TERR19EE ER205E
M ON | 2,254,832 (AL2)] 2,259,668  (0.2)] 2,150,864 ( A4.8)| 2,216,798  (3.1)| 274,450 ( A87.6)
M| 2,195,726 (0.2)] 2,222,077 (1.2)] 2,048,733 ( A7.8)| 2,158,907  (5.4)| 258,704 ( /AA88.0)
7 5l 59,106 ( A35.6) 37,591 (A36.4) 102,131 (171.7) 57,891 ( A43.3) 15,746 ( A72.8)
(2)BADIKR (HA7: M. %)

REREE TR20&EE TR19EE

¥ (a—b)
B REEE a | WAL | BEE | RESE b | HBAELL | BEFE
1 XA R & 4 102,610,324 37.4] A 90.2| 1,049,658,000 474 A 27| A 947,047,676
2 I A S 64,083,073 23.4 A 90.1| 648,671,027 29.3 4.6| /A 584,587,954
3R X o % 15,758,000 57 A 90.7| 169,347,000 7.6 7.3] A 153,589,000
4 A A & 31,244,000 1.4 A 87.0] 239,850,000 10.8] A 57| A 208,606,000
5 el & 57,890,906 21.1| A 433 102,130,876 4.6 1717 A 44,239,970
6 #H I A 2,863,479 1.0 A 59.9 7,140,611 0.3 165.6 A 4,277,132
= 5 274,449,782|  100.0| A 87.6|2,216,797,514 100.0 3.1| A 1,942,347,732

() mH DK (BA7: . %)

REREF TR205E TERR19EE

te#R (a—b)
B B REEE a | WAL | BEE | REZE b | BEL | BEZE
1 % % 2,415,615 0.9 A 826 13,849,384 0.6 11.9] A 11,433,769
2 B G #| 189,931,348 73.4] A 90.7| 2,035,555,746 94.3 2.7| A 1,845,624,398
3 G X & 66,356,732 25.7| A 39.4[ 109,501,478 5.1 99.5| A 43,144,746
& 5 258,703,695  100.0| A 88.0] 2,158,906,608 100.0 5.4 A 1,900,202,913




(M ZANEROBE (FAXRZHER

CVAPN)

Al20% 214
X4 3R 4R 5R 6R 7R 8AH 9RA| 10R| 11RA| 12AR 1A 2R
T5RELLE 2,943 0 0 0 0 0 0 0 0 0 0 0
BEEDEA 91 0 0 0 0 0 0 0 0 0 0 0
A | 3,034 0 0 0 0 0 0 0 0 0 0 0
XBB KM 70 E A 1L, 655k 2L EIZRRD,
(5) EFEAR T DKIR (BAT: . %)
BRREF ER205EE TRI19EE tt B
15 BE| mAE | 4%| RRE | 4% g;ﬁgﬁ & = QE
|2 ®OH| 4514 180,368,266 53,213  1,901,491,120| A 48,699 A 91.5|A 1,721,122,854| A 90.5
’%z Al DA 1,674 20,734,810( 19,868 243,972,410 A 18,194 A 91.6] A 223,237,600| A 91.5
s Bl 6,188 201,103,076 73,081| 2,145,463,530| A 66,893] A 91.5|A 1,944,360,454| A 90.6
g EF R 0 0 2 266,400 A 2| EF A 266,400| 45
#lz o @ 160 2,786,276 955 27,995,653 A 795 A 83.2[ A 25,209,377| A 90.0
% at 160 2,786,276 957 28,262,053 A 797 A 83.3[ A 25,475,777 A 90.1
= B A 6,348 203,889,352 74,038| 2,173,725,583| A 67,690 A 91.4[A 1,969,836,231| A 90.6
(6) EEfaT (2EE)NR (FRH20FE) (HA7: M. %)
s 1= 1AHY
% B % I & A& o® )
B | EFR%E | ER%E
&R a b c d b+a d<a
(G5 H P M % H 2! !
N 7 227 4,001 9,375,299 93,752,990 6.2 17.6 413,009 25,630
A Bt 4 3,963 8,285 7,371,934 73,719,340 108.3 2.1 18,602 20,153
B2 324 898 618,533 6,185,330 8.9 2.8 19,091 1,691
EAIO A 1,674 20,734,810f  45.8 12,386 5,668
A FF 6,188 13,184 17,365,766 194,392,470 163.4 2.1 31,414 53,142




